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These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the District level. Shawn Pickrell, Marian Suter, Adam Fine, Chris Moretti, Susan Gallaher, Ross Irwin, Jason Mueller and Fred Morlan are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District, without prior approval of Shawn Pickrell, is prohibited. This is meant to keep question security.

(b)
The discussion or other reference to these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined is prohibited. This is also meant to keep question security.

(c)
These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups

1.  Bartolommeo Ammanati and Giovanni da Bologna were the style's foremost sculptor and architect respectively.  A term used as an ideal during the Renaissance, by the 1600s it was used to slam the eccentric styles of painters such as Rosso Fiorentino and Bronzino during the sixteenth century.  What art period, falling between the Renaissance and Baroque, is best exemplified by Parmigianino's _Madonna of the Long Neck_?

ANSWER:  _mannerism_ (or _mannerist_)

2.  The Harriet Beecher Stowe house on Forest Street in this New England town is open to the public. It is served, along with Springfield, Massachusetts, by Bradley International Airport, and is the home to many insurance companies. What is this second-largest city, after Bridgeport, in the state of Connecticut, as well as the state capital?

answer: _Hartford_, Connecticut

3.  When two or more independent clauses are joined without any punctuation mark to separate them or a connecting word to join them, they create what grammatically faulty sentence?

ANSWER: _Run-on_ also accept fused or blended

4.  For rotational motion, its equation is t equals I times alpha.  For linear motion, it takes the familiar form of f equals m times a.  Name this law.

ANSWER: _Newton's second_ law or _second_ law of _motion_.

5.  On September 7, 1812, 125,000 French and 115,000 Russian soldiers squared off at -- what only major battle of Napoleon's Russian campaign?

ANSWER: _Borodino_

6.  As the snow flies, on a cold and gray Chicago morning, a poor little baby child is born. Thus begins the unhappy life of this song's main character, which ends when he breaks away, buys a gun, steals a car and tries to run. However, he doesn't get far, and his mama cries as he dies in -- what Elvis Presley song?

ANSWER: _In the Ghetto_

7.  Cellular respiration in animals produces two wastes, one of which is water. What is the other?

ANSWER: _carbon dioxide_ or _CO2_

8.  He is known to Turks as Kaziglu Bey [kah-zee-GLOO bay]. He managed to preserve Walachia’s independence from the Ottoman Empire, but was eventually beheaded in 1476 by the Hungarians. His reign was marked by brutality, an example of which was inviting beggars to a castle, then burning it to the ground. Who was this ruler whose favorite method of getting rid of political opponents was impaling them?

ANSWER: _Vlad_ III the _Impaler_ or _Vlad Tepes_ [TEE-pesh] or _Dracula_ (accept any of the three)

9.  In the eternal struggle, this god has six archfiends at his disposal, as well as the demon Aeshma (ESH-mah).  At first called Angra Mainyu, or the "Evil Spirit," what evil god is locked in a war against Ahura Mazda, according to the Zoroastrian religion?

ANSWER:  _Ahriman_ (accept "Angra Mainyu" until mentioned)

10.  What is the name of the award presented annually by the Mystery Writers of America for the best mystery story written each year? It is named for the American considered to be the father of the modern detective story.

ANSWER: The _ Edgar _ or the Edgar Allan Poe Award

11.  During an annular eclipse in 1836, he described the fleeting phenomenon of a string of bright points along the circumference of the otherwise totally eclipsed Sun. Caused by sunlight shining between mountains on the Moon’s limb, these points of light, now known as “beads,” are named for what English astronomer?

ANSWER: Francis _Baily_

12.  THIS IS A COMPUTATION QUESTION. What is the greatest common divisor of eighty four and thirty six? {GCD(84, 36)}

ANSWER: _12_

13.  When these are paid by a corporation, the preferred ones must be paid first, before any can be paid on the common stock. What is this term used to describe the periodic payments made by a corporation to its shareholders out of its free cash or its operating profits?

ANSWER: _dividends_

14.  What is the word that is used to refer to the specific application of mathematical and statistical theory to biological investigation?

ANSWER: _Biometrics_ 

15.  He is said to have invented the compass, the pottery wheel, and writing, and was also the first to breed silkworms to make fabric.  Ruler of the fifth cardinal point, the center, he got his magic powers when he was 100 years old, and rode a dragon to heaven.  Who was this mythological Chinese ruler of the third millennium BCE with a colorful name?

ANSWER:  The _Yellow Emperor_ (or _Huang Di_ or _Huang Ti_)  

Second period, 10 directed questions per team

Questions with an “A” after their number will be read to the team that selects set A of questions; questions with a “B” after their number will be read to the team that selects set B of questions.

1A.  THIS IS A COMPUTATION QUESTION. A student calculates the density of copper to be 6.3 grams per cubic centimeter. Following this, she finds a chart with the accepted value for the density of copper as 6.62 grams per cubic centimeter. What is her percent error, to the nearest tenth?

ANSWER: negative _4.8_ percent

1B.  Name the American poet who penned these lines:  "This is my letter to the World / That never wrote to Me-- / The simple News that nature told-- / With tender Majesty."

ANSWER: Emily _ Dickenson _

2A.  THIS IS A COMPUTATION QUESTION. There are five classes of angles based on measure. The four most commonly listed are right, obtuse, acute and reflex. What is the fifth?

ANSWER: _Straight_ (accept "Linear")

2B.  On the TV show "Leave It To Beaver," what was Beaver's real first name?

ANSWER: _Theodore_

3A.  Name the Edna Ferber novel set in Oklahoma and Texas at the time of the land rush and the oil boom that followed.

ANSWER: _ _Cimmaron_ _ 

3B.  What South American river separates the nations of Argentina and Uruguay?

ANSWER: _Rio de la Plata_

4A.  What Russian oil company and its CEO, Mikhail Khordorkovsky [KOR-dor-KOFF-skee] has come under fire this summer from Russian authorities for allegedly failing to pay billions in back taxes?

ANSWER: _Yukos_ 

4B.  THIS IS A COMPUTATION QUESTION. A movie ticket costs eight dollars, including a twenty eight percent entertainment tax.  What is the cost of the tax alone?

ANSWER: _$1.75_

5A.  Who lost the 1952 and 1956 Presidential elections to Dwight D. Eisenhower?

ANSWER: Adlai E. _Stevenson_

5B.  For a sexually reproducing organism to be considered a separate species, the organism must be able to mate. What other condition makes that organism a separate, distinct species? 

ANSWER: _the offspring must be fertile_ (accept equivalents)

6A.  THIS IS A COMPUTATION QUESTION. What is the cardinality of the integer set, or any set which has a one-to-one mapping with the integer set? 

ANSWER: _countably infinite_ or _denumerable_ (NOTE: prompt on just "infinite", do NOT accept "uncountably infinite")

6B.  (NOTE TO MODERATOR:  BEGIN QUESTION BY SITTING THERE IN SILENCE FOR FIVE SECONDS).  I have just performed the first 2% of what 1954 avant-garde composition by John Cage, in which the musician sits there and does nothing for the titular length of time?

ANSWER:  "_Four Minutes, Thirty-Three Seconds_"

7A.  What name was given by the Egyptians to the Semitic people who invaded and took over Egypt in 1710 BC, using new weapons such as the war chariot and the composite bow?

ANSWER: _Hyksos_

7B.
THIS IS A COMPUTATION QUESTION. Report the answer for the indicated operation to the correct number of significant figures: 83.249 + 504.13 + 5391.5

ANSWER: _5978.9_

8A.  "Double, double, toil and trouble, / Fire burn and cauldron bubble," illustrates what type of metrical foot, in which an unstressed syllable follows an stressed one – the opposite of iambic?

ANSWER: _ Trochee (tro-kee) or trochaic _

8B.  THIS IS A COMPUTATION QUESTION. The sine of x plus the cosine of x equals one, over the interval greater than or equal to 0 and less than 360 degrees. What are the values of x over that interval?

ANSWER: _0, 90_ (don't accept an answer with 360 in it, as it's not in the interval)

9A.  Although earthquakes generally originate deep underground, their location is usually plotted on a map of the surface.  What is the name of the location directly above the location of fault slip?

ANSWER: _epicenter_

9B.  Name the English economist who believed that population increased more rapidly than food supplies and for whom a contraceptive device was named in Huxley's _Brave New World_. 

ANSWER: Thomas Robert _ Malthus _ 

10A.  What is the general name for Japanese Shinto deities, including full-fledged gods such as Amaterasu and also ancestral family spirits?

ANSWER:  _kami_

10B.  What famous American blazed the Wilderness Trail and spearheaded the colonization of Kentucky and Tennessee?

ANSWER: Daniel _Boone_

Third period, 15 toss-ups
1.  Not too many people enlist in the U.S. Armed Forces at age 62, but this man did in order to lead the Navy Band in 1917.  Name this composer and bandleader known for "The Gladiator" and "The Stars and Stripes Forever," two of his 136 marches.

ANSWER:  John Philip _Sousa_ (SOO-zuh) 

2.  Originally, it was considered unnecessary, as American leaders thought Europe could rebuild quickly with the help of its overseas colonies. But by 1949, Truman had adopted this plan of providing $13 billion of loans and grants to Western Europe to rebuild Western Europe and fight the spread of Communism. What was this plan, named for the serving Secretary of State?

ANSWER: _Marshall_ Plan

3.  His book A True Relation, published in 1608, is considered to be the first book written in America and describes the ordeal of settling a wild land. Name this author who is perhaps better known as the man under whose leadership Jamestown was able to survive and become the first successful English colony in the New World.

ANSWER: Captain John _ Smith _

4.  In mammals, this area is defined as the area where the digestive and respiratory tracts cross. What is the name of this organ, commonly called our throat?

ANSWER: _pharynx_ (prompt on throat)

5.  The Duke of Ferrara had given his wife the gift of his family's 900-year-old name, a gift she apparently did not appreciate, in what Robert Browning dramatic monologue?

ANSWER: _ "My Last Duchess" _

6.  65 million years ago, an asteroid landed on this peninsula, creating a crater named Chicxulub [chik-CHOO-loob]. This impact is thought to have made the dinosaurs extinct. What is this peninsula, located in southern Mexico?

ANSWER: _Yucatan_

7.  The left-of-center Congress Party and the nationalist BJP are the two largest political parties in -- what largest democracy in the world?

ANSWER: _India_ 

8.  The New York Post committed a front page-size error on July 7. Instead of John Edwards -- who did the Post say had been given the Vice-Presidential nod by John Kerry, a Missouri Congressman and former House Minority Leader?

ANSWER: Dick _Gephardt_

9.  THIS IS A COMPUTATION QUESTION. The time in seconds for a rocket to fall from its apex A is two to the negative second square roots of A.  How long does it take the rocket to fall one thousand two hundred ninety six {1296} feet? {t = (2-2)sqrt(A)}

ANSWER: _9_ seconds

10.  She is the only character named in the novel, The Time Machine. Who is this Eloi that the Time Traveler befriends?

answer: _Weena_

11.  His last movie was 1976's "Family Plot." His first Hollywood film was 1940's "Rebecca." In between were classics such as "Marnie," "Dial M for Murder" and "North by Northwest." Who is this director best known for "The Birds" and "Psycho?"

ANSWER: Alfred _Hitchcock_

12.  Hydrogen-3, the isotope of hydrogen with atomic weight of three, is given -- what special name?

answer: _tritium_

13.  He was in the 1994 U.S. Senate race with Oliver North, Chuck Robb and Marshall Coleman, but dropped out to endorse Robb. In May 2004, he announced his intention to run for mayor of Richmond after helping get a measure passed to popularly elect mayors. Who was Virginia's governor between 1990 and 1994, the first African-American to be elected governor of a US state?

ANSWER: Douglas _Wilder_

14.  Developed by the U.S. Department of Defense, it initially only had four nodes, which were connected together for the first time in 1969. The brainchild of J.C.R. Licklider, it has been rumored to be developed to allow governmental communication should a nuclear war occur, a claim which has been denied by the government. Name this pre-cursor to the Internet, the world's first packet switching network.

ANSWER: _Advanced research projects agency network_ or _ARPANET_

15.  Basil Hallward, Lord Henry Wotton and Sibyl Vane are all characters that appear in -- what Oscar Wilde novel where the title character has a seemingly magical portrait painted?

answer: _The Portrait of Dorian Gray_

Spare questions 
Try to replace the question discarded with the spare question in a subject area – i.e. science for science, social studies for social studies, etc.) Be sure to mark off the questions as they are used.
1.  THIS IS A COMPUTATION QUESTION. The length of a rectangle is one centimeter less than twice the width.  The perimeter is 28 centimeters.  What is the area, in square centimeters?

ANSWER: _45_

2.  The letter "w" in this language is a vowel that has the same sound as "oo" in moon. The letter "f" by itself is pronounced like a "V" in English, but when two f's appear together, it is pronounced like an English "f". Its most unusual sound is that of two l's together, which is a voiceless lateral fricative sound not found in English, such as in the word Llewellyn. What is this language that is spoken in the United Kingdom cities of Swansea and Cardiff?

ANSWER: _Welsh_

3.  The two strands that make up a reproduced chromosome during the process of mitosis are -- what type of "sisters?"

ANSWER: sister _chromatid_s

4.  The Germans were forced to withdraw much of their force from this July 1943 battle and reinforce the Axis positions in Sicily which had come under attack, allowing the Russians to score a decisive victory. What was this battle -- the largest tank battle in history?

ANSWER: _Kursk_

5.  In July, he conceded that black holes do give out information about what they swallow. Who is this Cambridge physicist best known for his book, "A Brief History of Time?" 

ANSWER: Stephen _Hawking_

All questions ©2004 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

